101.

102.

103.

104.

The area of the figure bounded by y2 =2x + 1
and x - y=1is '

2 4
(a) g (b) '151
(© % (d) -

The order of the differential equation of all
tangent lines to the parabola y = x%is

(@)1 (b) 2
(©)3 4 (d) 4
J' 06D is equal to

(@sin! @2x-3)+C () sin! 2x+5+C
(©sin ! (3-2x)+C (d)sin~! (5-2x)+C

25
I(se_c;c____?_) dx is equal to

sin’ x
tan x cos X

(o —=—+C (b)}—=—+C
sin’ x sin’ x
sin x sin x

(c) — 5 +C (d 5 +C
cos’ x tan’ x

105. 1_23 {|]x+1]+]|x+ 2| +|x—1|} dxisequal to
31 35
== T e
2 o
ol i
() 5 (d) 5
106. The vzariance of first n natur%-l numbers is
n“+1 n“-1
. b
@ B 5 :
© (n+1D2n+1) @ [n(n + 1)}
_ 6 2
107. A particular solution of
log (%) =3x + 4y, y(0)=0is
@ X +3Y =4 ()4 -3V =3
(€ 3™ #d4e Y =7  (d) 4e> + 3V =7
108. The equation of the curve whose subnormal is

equal to a constant ‘d is
() y=ax+b (b) y%=2ax + 2b
(c) ayz ~-x°=a (d) None of these
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(a0 (b)
3
> )

(c) 5 @ 5

Let A and B be two events such that P(A)=0.3

and P(AuB)=0.8.If A and B are independent
events, then P(B)is

QO | =

4
(a) g (b) Z
(© 7 (d) 5
A bag contains 4 brown and 5 white balls. A

man pulls two balls at random without
replacement. The probability that the man gets
both ghe balls of the same clolour is

.4 4=
(©) 18 (d 9
The value of expression
i + is equal to
cos 290° ' /3 sin 250°
V3 4
— b
(a) 2 ( )?
2 3
22 qy 2=
(© 7 (d) 2

An equation of a line through the point (1, 2)
whose distance from the point (3, 1) has the
greatest value is

(a) y = 2x b)y=x+1
(e)x+2y=5 (d)y=3x-1

Aline is drawn through the point P(3, 11) to cut
the circle x% + y? =9 at A and B. Then, PA - PB

is equal to
(a) 9 (b) 121
(c) 205 (d) 139

If the tangent at point P on the circle
x?+ y? 4+ 6x+ 6y —2=0 meets the straight
line 5x = 2y + 6 =0 at a point Q on the y-axis,
then length PQ is

: (b) 25

(a) 4

(©5 (d) 3v5

In a triangle ABC,a: b: c=4:5: 6. The ratio of
the radius of the circumcircle to that of the

incircle is

215 1
ot ol
7 3
If4 siil'l x+costx=m, then_‘x is equal to
a)—= b) 0
: : 2 ((d)) 1
2
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137.

138.

139.

140.

141.

142,

143.

. If the

The value of cos (% cos™! %—] is equal to
3
a —
(a) 41'
c —
(© T3

—
The vectors - a
d

nl ]
>

b=1+ j+ (m+1)k an
coplanar, if m is equal to
(a) 1
(b) 4
(c)3
(d) no value of m for which vectors are coplanar

Ifla|=2,|D|=3,]¢|=4anda +b+¢ =0,

=i-j+mk are

e T T T )
then the valueof b-c + ¢ -a + a - b isequal

to

19 19
bal o b) ==
® 229 ” 229
= &=
(© > (d 3
The line x + y = 6 is a normal to the parabola

y2=8x at the point

(a) (18,-12) (b) (4,2)
(© 2,4 (d) (8,8
If F =(3 0), Fo =(-3 0)and P is any point on
the curve 16x” + 25y2 = 400, then PF, + PF, is
equal to
(a) 6 (b) 8
(e) 10 (d) 12
If'e and e; are the eccentricities of a hyperbola
and its conjugate; then —15 + - is equal to
ET g
(a) -1 (b) 0
(91 (d) 2
— cos3 :
lim L,r-ms—x is equal to
x— 0 X $In X Cos X
2 3
(@) g (b)g
(c) E (d) Z
If y = cos™* (cos x), then y’ (x)is equal'to
(a) 1 for all x

(b) -1 for all x
(c¢) 1 in 2nd and 3rd quadrant
(d) -1 in 3rd and 4th quadrant

-3 A~ A
AB=-3i+4k
AC=5i —213+ 4k are the sides of a A ABC,
then the length of the median through A is

vectors and



(a) V14 ) V18 24b  b#0,x<1
(0) V29 d 4 148-Ifffx)={b S -

145. The penod of the function ke s

£(x) = cosec? 3x + cot 4x is then f(x) is continuous and differentiable at
x=1if
(a)g (b)z (a)c=0a=2b (b)a=b,ceR
()1; d (cda=bc=0 (d)a=bc#0
g O} 149. Let g(x) be the inverse of function f(x) and
146. The graph of the function f(x)= A =
f(x)=1log, (x + y/x? + 1)is symmetric about IT+x
{a) x-axis (b) origin (a) ___1__3 ) —15
() y-axis (d) the line y = x 1+ {glx)} 1+{f(x)}
147.The difference between the greatest and 1gast ©1+ g3 @1+ {f(x JE
values - of the function : ; :
1 : 150. If @ is the semi vertical angle of a cone of
fx)=cosx + % 2x - i 3x is maximum volume and given slant height, then
2 8 tan 0 is given by
@3 (b) 5 (a) 2 1
62 B © 2 @3
8 4 .
Answer — Key
101. * 102. a 103. a 104. a 105, * 106. b 107. ¢ 108. b 109. b 110. a
111« dd2.5 - 113. b 114. c &/ & a 118. c¢ 119. b 120. a
121. b 122. a 123. d 124. b d 128. ¢ 129. d 130. b
131. a 132. b 133. ¢ 134, c =l 138. d 139. c 140. c
141. ¢ 142. ¢ 143. a 144. b d 148. a 149. c 150. c

101. Given curves are
yi=2x+1

andx-y=1
y

B (4, 3)

7.
"

102. Given curveisy = x* :
014 For this curve there is only one tangent line ie,
x-axis (y = 0)
4 PEl e
Points of intersection are A(0, — 1)and B(4, 3). ’ dx

Hence, orderis 1.

dx
103. lﬁtf—jm

sfy2-1
Area = jj 1+ y)dy ——J_l [y—-z—-] dy




